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Answer all the questions

s

Find the series element or elements in the circuit shown that must be in the enclosed container to

satisfy the following conditions.

a- Average power of the circuit is =300 W
b- The circuit has a lagging power factor

=3AZ0

& Wy =
- a9
Qis Ry = 80
For the network circuit shown Find R, =80
XL: =3 Q—l—:—

a) The current I.

b) Voltage V2.
c) The average power delivered to the network.

For the circuit shown , find the value of R to produce maximum power in the 14 Q

resistor, Calculate the value of this maximum power Pmax

14n§
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The Circuit shown consists of three loads in a series - parallel connection , with each of the load is
deified as indicted. Find the overall complex power of the circuit, its overall Pr, and the phasor from of

the source current |

Q4 =200 VAR Ind

P =100wW

| S3 =600 VA

Load
E + Y
, Q. =300 VAR Ind
100 -0 @ P,= 400w 3
Pgo = 0.8 leading
Load, Load

Q4A [ 8
If A series resonant circuit will resonate at a frequency of 1 MHz with a fractional bandwidth of 0.2 Hz
the quality factor of the coil at resonance is 12.5 and its inductance is 100 mH, determine the following:

a. The resistance of the coil.
b. The required value of capacitance

s

Y1 and Y2 Contain a single element each. The current |1is in phase with E and equal to 6A. The source

voltage E leads IT. Find the value of each element

120v® 1?7 Y, 2]{;}2

w =2000 radis
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Q1)- {15 Marks} e

a)- Given w= 314 rad/s, determine how long it will take the sinusoidal waveform
to pass through an angle of 90° el
T s Nl e MY, &
LD{; X'J.L oL = W ”‘; b ) \'z S
/-‘ . . . .
b)-The current through a 0.2-H coil is provided. Find

the sinusoidal expression for the voltage across the coil.

Sketch the v and i curves st é:—w/"u 5
i(t) =7 sin(377¢ - 70°) | 1o )=53-\"
Q2)- {15 Marks} s
The phasor diagram of Series RLC circuit is 5~

shown in the fig:

1- Find The value of the series elemients. {6 Marks} 50
2- Complete the phasor diagram /.

{4 Marks} — &
3- Determine P,, /

Marks}.
} .
Q3)- {15 Marks} \/
In the circuit shown,given that: 5

o .. 3P
\ ' [
S . : &

) -
o/
Z=3-14, Z,=4.426 +J4.426 and |
23 =2-)3 » n
a)- Determine the value of Z;, for maximum ! = :
power to the load. {6 Marks) 6‘) % z
; c vy AN n L
b)-Find P, {9 Marks) may V)
1 p ' L 2
Q4)- {15 Marks}

For the System shown:

a)- D}-aw the power triangle. {9 Marks}
b)- Find tota) power factor,

+
‘ {3 Marks C
¢)- Determine the total current ]’r:-{ﬁ'Mar}ks} 100 A Y qv

PF=065 Leading
ssava [

"\_';;;Y\E—L
s |
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